
SAP ABAP table N1STZYOE {IS-H*MED: Cycle Prioritization as a Function of the OU}

N1STZYOE

MANDT [CLNT (3)]

EINRI [CHAR (4)]

ORGID [CHAR (8)]

N1ZYNR [CHAR (10)]

N1PRIO [DEC (3)]

BGDAT [DATS (8)]

N1STZY

MANDT [CLNT (3)]

EINRI [CHAR (4)]

N1ZNR [CHAR (10)]
 N1STZYOE-N1ZYNR = N1STZY-N1ZNR 0..N

1

NORG

MANDT [CLNT (3)]

ORGID [CHAR (8)]

 N1STZYOE-ORGID = NORG-ORGID 
0..N

1

T000

MANDT [CLNT (3)]

 N1STZYOE-MANDT = T000-MANDT 

0..N

1

TN01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

 N1STZYOE-EINRI = TN01-EINRI 

0..N

1


